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Two pairs of intersecting arcs with
equal radi > 0.5 AB
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tolerance + 0.1 cm

Perpendicular bisector drawn with
correct method seen

A1

tolerance + 0.1 cm

Additional Guidance
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(@) Accurate ruled angle B bisector 2 [ B1 foraccurate ruled angle B bisector | Tolerance + 2° e.g. one angle 49° to
with two pairs of correct arcs 53° and the line can be any length,
must touch B and condone dotted
line
® “Accurate ruled perpendicular 2| B1 for accurate ruled perpendicular Tolerance £ 2° 6.g. angle 88° (0 92°
bisector of BC with two pairs of bisector of BC and £ 2mm e.g. 27mm to 31 mm and
correct arcs line can be any length, must touch
BC and condone dotted line
© Correct region shaded Tdep | dep on atleast BT and B1 and both

bisectors intersecting
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Ruled perpendicular constructed with
correct arcs (one pair intersecting AB)

Condone dashed line
B1 for correct arcs (one pair intersecting AB) only but
noline
or
correct ruled line but no, or incomplete.
construction arcs

‘Set protractor to 90° and check 88°
1092° at AB.

Correct construction arcs as shown
(may be two pairs of arcs used to
draw line through P)

Ignore other arcs if correct arcs
clearly used to construct ine

Condone perpendicular extending
beyond AB but must pass through
P and reach AB (no daylight)

Alternative arcs.
One centred on A length AP and
one centred on B length BP
meeting below AB (may also pass
through P). Use overlay as check

Candidates may use points on AB
other than A and B for this
construction. In such cases check
radii of arcs using on-line ruler to

judge.
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(@ acceptable bisector of angle A with B1 for acceptable bisector of angle A | Tolerance  2°
two pairs of supporting arcs with no or incorrect arcs Use overlay
®) ‘acceptable perpendicular bisector of B for acceptable perpendicular Tolerance £ 2 mm
AC with supporting arcs. bisector of AC with no or incorrect | Use overlay
arcs
© Their correct region shaded Dep on at least (a) B1 and (b) BT
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(a) accurate perpendicular bisector at B1 for accurate perpendicular bisector | tolerance + 2mm
least from AB passing within 3 cm of
C with two pairs of correct arcs
B1 for any arc centre C
arc centre C, at least from BC to CD,
with radius 3cm
Dep on B (bisector) and B2(arc)
two points marked intersecting the scored above
arc and line
® Gne of the points s not in his garden “accept any corredt reason €.9. one

or only one is in his garden

point is behind the CD fence
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Two arcs of equal radius or a single +2mm
arc, centre B, cutting BA and BC

or M1

asingle arc cutting BC with radius +2mm
=BA

Fully correct method of construction | 5
of bisector of angle ABC

Additional Guidance

Award M1 if correct arc(s) seen alongside incorrect arc(s)

Angle bisector does not need to meet AD and ignore angle bisector
extended beyond AD

Accept an arc touching the line BA or BC

No arcs seen on BC

Mo

A
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Arc, centre A, radius 4 cm on grid atleast a quarter-circle + 2 mm radius

B | °
ignore any other arcs
Correctstraight e equidisant their ne must ntrsect any two of the
flom B and C five grid vertices (0.3). (3,4, 6, 5).
Bt | (9.6).(12,7)
+2mm
Correct enclosed region ientfied 2 mm for the ine at (0.3).(6,5)

and the arc at (6, 6), (2. 10)

B1 | region may be idenified by labelling R or
by shading
impiies B3

‘Additional Guidance

818181

‘Arc must be drawn using compasses for the first and third marks.

I a quarter-circe s in tolerance, ignore the rest of the arc for first B1

Grid points are based on the origin being bottom left

Use (6. 5) not the intersection o the arc and the line to test the region

Lines may be dotted





